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Now turn the reduced matrix ④
back into equations.

leading

④tyt2Z
variables

⑦_ 7-2-2=-17-2 ② are × , y ,
2-

There are no

⑦=3 ③ free
variables

solve in terms of leading
variables .

✗=9-y①y =
-¥ + Izz

②

③
z =3

Now we back
- substitute starting

at the
last equation and

going upwards .
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③ gives ⑰

binet
② gives
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so,E zinsub and

① gives

X - 9
- y
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Sot
Thus, the only

solution to

the system
is

X =1

⑳ or((1,2,3)



Let's check the answer to make ④
sure
it works

originalsystem

✗ ty +
2 2- = 9

2×+4 y
- 3z = , }

/ + 2+2131=9
✓

2411-4121-3131=1
✓

3×+69-52=0 3 (1) +6 (21-513)=0
✓

X=l,y=2,Z=3work÷
thisistheonbsoh.HU (* )to the system .

There is no
othersohti✓
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side is in

row echelon

form

Now we turn it
back

into equations .



We get ⑱
a +2b - c

=- 43

b - 32x =- 42

0
=6a-

Since we have

0 =6 in the
last

equation this
tells

us that
the original

system
is mistent

are

thatis
there

edutions
to the system.



EI solve ④

5x,-2Xzt6- 2x ,
+ Xz 1- 3×3=1
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Turn itback into equations. ⑩

⑭Icx*s
leading variables are Xi,

X2.

free variable is X3

solve in terms of leading
variables.

[
①

*Ex, ②
free variables a

new name.

Give the

LetSt
Now back substitute.



② gives ✗2=5-27×3 ④

xz=5-27tCP×④
① gives ✗1=2-12×3
/

X,=2

Answe@
✗ ,

-_ 2- 12T where
t canXz=5-
be any

- real number

¥?Éymanrie
12=-10

✗ 2--5-27=-22
¥- 0=2
✗2--5-0=5

✗3=1 ✗3=0




